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KPR BB RS (ZE—UELA)

S8 P22 1l R & & R S FaRE
(Z/&)

M tigs J 6-10 8.0-9.3 8.8 =
HEE (mg) 100 <20-22 20.4 =
B4 E  (mg/) 10 <2.0 <2.0 =
MY E (mg/l) 2000 510 - 1300 772 =
WAL 4 E  (mg/) 10 <0.5 <0.5 =
FALYEEE (mg/) 0.1 <0.04 - 0.069 0.056 =
BT EREEE (mgd) 100 <15-32 23.2 =
HAE  (mg/h) 20 <10-17 114 =
M&dE  (mg/) 0.5 <0.3 <0.3 =
B EMAE (mg/) 1 <0.6 <0.6 =
FEE MR (mg/) 15 <7 <7 =
EEFHRE (mg)) 2000 <100 - 640 398 =
AHEBRE  (mg/) 200 17-51 31 =
g (0) 43 32-33 32.4 =
IR Y=Y EOEHER | B EDLTS [ BEHE DL =
FEESB

i (mg/l) 2 <0.4 <0.4 =
#H (mg/l) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
#%  (mg/D) 1 <0.3 <0.3 =
i (mg/l) 2 <0.5-0.68 0.57 =
25 (mg/l) 2 <1 <1 =
#m (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
77 (mg/l) 2 <1 <1 =
IR (mg/) 2 <0.4 <0.4 =
% (mg/l) 5 <1 <1 =
¥ (mg/l) 2 <1 <1 =
EaeBEEHS (mg) 10 <71.0-7.1 7.0 p=s




28 P22 1l B G B 38 FEiRE
(/&)
i (mg/) 5 <1-19 1.2 =
#  (mg/l) 10 <2 < =
e &k
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR ZNE (mgl) 0.01 <0.01 <0.01 s
FEZELEEY
AEE (mg/l) 0.1 <0.06 <0.06 =
EEMiEeyw
1,1,1- = & 2 5% (mg/) 0.05 <0.025 <0.025 s
ZEBEE
% & K 48 & (mg/) 0.003 <0.003 <0.003 s
BHMEYE :
B EBEME & (pc/l) 10000 <10000 <10000 s
#%-226 (pc/l) 30 <30 <30 =
#8-90 (pc/l) 100 <100 <100 s
# FESBEEEE W 5 8% 8% - 8 - 8 - 8- ok - 87 - 3R -

57 M




B B2 g 9 e B o 0
R R RZRBERSE (ZE—UERH)

E3 122 1 PR & &t = RIES) FHERE
ZE/IR)

) =tsreEEemn @
R (mg/m’) 30 0.0 - 1.0 0.2 e
— &AL (mg/m’) 200 0.2 - 86.9 8.6 e
Bil% (mg/m’) 60 04 - 16.3 2.3 e
#1&E (mg/m’) 4 0.0 - 0.1 0.0 e
2ELY
(Bl = & 1k & = &) 400 447 - 199.6 116.1 =
(mg/m’)
ME HEER (mg/m’) 20 0.0 - 2.5 0.2 &
— & /B 6% (mg/m”) 100 0.1 - 62.4 59 &
(z) HigmE @
ok (mg/m’) 10 0.1 - 0.3 0.2 &
&b (mg/m’) 50 20 - 125 8.4 &
B % (mg/m’) 10 0.7 - 4.7 2.3 &
#IEE (mg/m’) 1 0.00 - 0.00 0.00 &
ALY
(LI = &1k & 3t &) 200 82.3 - 146.3 113.7 =
(mg/m’)
455 TR (mg/m’) 10 0.08 - 0.38 0.21 e
— & (b B% (mg/m’) 50 2.5 - 109 6.0 e
(W) Hftr
AR BAEY
(LE R & &5 8) 24 <1.8 <18 &
(mg/m’)
BNAALEY
(L& agstE) 18.8 <14 <14 =
(mg/m’)
BE (DLW OBE st B =
(ma/m’) 37.5 <0.9 <0.9 =
BR4EE(CIBEETE) (mg/m) 55 <0.22 <0.22 2
R ROREAEE (mg/m’) 5 <1.7 <1.7 =




2 8 22 1 B & &R ST FERE
EB/®)
EaeBE—8"Y
= AR (B K SEA
Eﬁfﬁ? (% — DI & 0.05 <0.011 <0.011 =
= (mg/m)
EaeBE 8 Y
B (mg/m’) 0.06 <0.002 <0.002 1=
= AR (BE — K SEA
AEDE =R 0.5 <0.089 <0.089 =
= (mg/m)
& (mg/m’) 0.05 <0.002 <0.002 &
TIEHL (ng/m’) 0.075 0.012 0.012 2
=E:
Q) FERNERLAGRNERN=T @B ELE LIS E -
Q) FEHENER LG EERNHEEIE -
QR EEeBEEE—FaHE : F - & -
Q) EEeBCEE B 8~ o~ 8~ 88~ 88 -8 - 8 - 88~ 9l -

(5) R HIAT&E I DL 273K ~ 101.3 kPa ~ SE R E A BE R BB B Eat B A&

A o A AFER &
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EX 28 I R R “E B NSSE FERE
(B/F)
E—E
. 8 (i K&

B i [ (7K) (Hjiﬁ B 15 123 2
)

EEE S %) |0 (Héma 66 - 89 767 =
%)

EB&B

#% (ppm) 0.5 <0.5 <0.5 yiea

7K (ppm) 0.1 <0.02 <0.02 ye3

A E (ppm) 10 <0.5 <0.5 yiea

#i  (ppm) <0.5-43 1.1

# (ppm) <0.5 <0.5

& (ppm) <1.0-93 1.5

¥ (ppm) <0.5-0.82 0.5

i~ 88~ 8N - FERY o

W8 (ppm) 25 <2.5-11.0 3.6 T

# (ppm) 20 <1 <1 =

ALY (ppm) 10 <5 <5 yea

RS (ppm) 10 <2.0-55 2.2 =

#FAEY (ppm) 5 <5 <5 yoea

BEE

= g% 4 PN

Tj?’x A %Y & 5000 s <15 =

= (ppm)

BHH#HEEE o

(ppm) 10 <5 <5 =

21X 8 = _

(ppm) 2 <2 <2 =

% @B E (ppm) 1 <1 <1 o

TCDD (ITEF %) =

(ppb) 1 <1 <1 =
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